



Effects of ammonia toxicity on growth performance, cortisol, glucose and hematological response of Nile Tilapia (*Oreochromis niloticus*)

Moustafa M. Zeitoun¹, Kheir El-Din M. EL-Azrak¹, Mohamed A. Zaki¹, Bahig R. Nemat-Allah², El-Sayed E. Mehana³

¹Department of Animal and Fish Production, Faculty of Agriculture, El-Shatby, Alexandria University, Egypt; ²Department of Physiology, Faculty of Veterinary Medicine, Alexandria University, Egypt; ³Department of Pathology, Faculty of Veterinary Medicine, Alexandria University, Egypt. Corresponding author email: mmzeitoun@yahoo.com

ABSTRACT

Ammonia is a production limiting factor in the aquaculture media affecting fish production. A study was designed to scrutinize effects of ammonia on growth performance, survival, cortisol and hematological parameters of Tilapia fish. The study examined effects of 96 h-incubation of male and female Tilapia with 3 mg ammonium chloride per a liter of water compared to control. The study has been carried out in the physiology laboratory of the department of animal and fish production, Alexandria University. Fourteen aquaria were used (6 control and 8 ammoniated). Each aquarium contained 6 fish (half the population males and the other have females). Duration of the control reared fish was 30 days, however the duration for ammoniated group was 4 days. In all stressed fish, there found decreases in final body weight, average daily gain and specific growth rate as compared to controls. Hematological parameters revealed increases ($P < 0.05$) in total leukocyte counts in both males and females exposed to stressors. There were significant decreases ($P < 0.05$) in red blood cell, hematocrit value and hemoglobin concentration in both males and females. There were non-significant differences ($P > 0.10$) in these parameters between males and females. Exposing both male and female tilapia to ammonia, resulted in increases ($P < 0.05$) in mean corpuscular volume (MCV). Mean corpuscular hemoglobin (MCH) didn't change in male tilapia, while females expressed increased MCH values in the ammonia condition. Mean corpuscular hemoglobin concentration (MCHC) decreased ($P < 0.05$) under ammonia with no differences between males and females. Differential leukocyte count exhibited increases ($P < 0.05$) in neutrophils in ammonia-exposed males and females and decreases ($P < 0.05$) in eosinophils and monocytes in males, but not in females. However, lymphocytes decreased ($P < 0.05$) in both females and males exposed to ammonia. Cortisol level increased ($P < 0.05$) by about 2 folds in both sexes of fish exposed to ammonia (2.95 and 2.72 *vs* 6.40 and 6.48 ng/ml in control males and females *vs* ammonia-exposed males and females). Rearing tilapia fish in media containing high level (3mg/l water) of ammonium chloride not only deteriorated growth rate but it also negatively affected the health wellbeing.

Keywords: Tilapia, physiological responses, ammonia, growth, hematology, cortisol.

INTRODUCTION

There is a global need for cheap sources of protein to meet the world's over-population. More attention is being paid to fish farming and its surrounding media. In the developing countries where the problem is acute, tilapia cultures are believed to offer one of the solutions, especially in view of the depletion of existing fisheries. Tilapias are second only to carps as the most widely farmed freshwater fish in the world. The Nile tilapia (*Oreochromis niloticus*) was one of the first fish species cultured. Biological constraints to the development of commercial tilapia farming are their inability to withstand sustained water temperatures below 25 to 30°C (Popma and Michael, 1999). Tilapia world production has been increased more than six folds between 1986 and 2002. Several stressors negatively affect the intensive tilapia farming. FAO report (FAO, 2006) defined stress as physical or chemical factors that cause body reactions that may result in diseases and deaths.

Physiological responses of fish to environmental stressors grouped as primary, secondary and tertiary. Primary responses, involve the initial neuroendocrine responses, including the release of catecholamine from chromaffin tissue and the stimulation of the hypothalamic-pituitary-interrenal (HPI) axis culminating in the release of corticosteroid hormones into circulation. Secondary responses include changes in plasma and tissue ion and metabolite levels, hematological features, and heat shock or stress proteins (HSPs), all of which relate to physiological adjustments such as in metabolism, respiration, acid-base status, hydromineral balance, immune function and cellular responses. Additionally, tertiary responses, which refer to aspects of

whole-animal performance such as changes in growth, condition, overall resistance to disease, metabolic scope for activity, behavior and ultimately survival (Barton, 2002; Ruane *et al.*, 2002; Iwama *et al.*, 2004). Ammonia is one of the most common stressors to fish health and production. The lethal effects of ammonia toxicity induce nervous disorders such as lethargy, convulsion, loss of equilibrium, side way swimming, increasing mucus in both gills and the body surfaces, gill hemorrhage and necrosis, kidney damage and circling and spiraling movements and finally death. Ammonia causes damage to the gills at a level as low as 0.25 mg/l. Symptoms of ammonia poisoning in fish includes; purple, red or bleeding gills (inflamed), inflamed eyes or anus. Also, fish may clamp and appeared darker in color, red stricken on fins or body, fish may gasp for at the surface of the water tank exhibiting torn and jagged fins (Fernandez and Mazon, 2003).

In a high density of aquaculture system nitrogen compounds have been identified as major metabolic products in fish culture (Erol *et al.*, 2010). In an intensive farmed freshwater fish culture, the most common pollutant is ammonia and the common sources of ammonia to fish are the unconsumed fish food and/or the fecal matter that constitute a big hazard for fish culture industry as it causes severe respiratory problems as gasping, flaring opercula, asphyxia and death of fish (Lin and Chen, 2003). Recently, Barbieri and Bondioli (2015) found that exposure of Pacu fish to different concentrations of ammonia-N caused an elevation in total hemoglobin and blood glucose. The sub-lethal effects induced decrease in growth rate and resistance to diseases and poor food conversion (Kuttchantran, 2013). Fish excretion is the main source of ammonia in fish body and its excretion is directly related to the feeding rate and the protein levels. Also, organic matter produced by algae or added to ponds as feed is a good source of ammonia. Severe reduction in both growth and survival rates were noticed in *tilapia rendalli* reared in quail manure tanks (Masautso *et al.*, 2014).

Ammonia accumulation may reduce growth, increases oxygen consumption and ammonia-N excretion, altering concentrations of haemolymph protein and free amino acids levels and causes mortality increment (Lin and Chen, 2003; Barbieri and Bondioli, 2015). El-Sayed (2015) studied effects of ammonium nitrate on the hematological parameters and the serum attributes of Nile tilapia (*O. niloticus*) and found a parallel disturbance in all parameters with the increase of ammonia concentration. Therefore, the aim of the present study was to investigate effects of a common stress factor (i.e. hyper-ammonia levels) on growth performance, physiological characteristics and differences between sexes of Nile tilapia.

MATERIALS AND METHODS

Study Location

This study has been performed during October 2011 to May 2012 in the physiology laboratory, Department of Animal and Fish Production, Faculty of Agriculture, University of Alexandria, Egypt.

Experimental Design

The study utilized 14 glass aquaria measuring 70 L × 40 W × 30 H cm with a maximum capacity of 84 liters and each contained 60 liters of de-chlorinated tap water. Eighty four growing Nile tilapia (*Oreochromis niloticus*) fish were used in the experiment. Half of the population was males and the other half were females. The fish were purchased from El-Shark El-Awsat farm in El-Behira governorate. The average initial body weight was 50 ± 5 g. Fish were fed at 3% of mean body weight at three times a day (8.00 AM, 12.00 PM and 18.00 PM.), as adaptation period and the unhealthy fish were removed from experimental aquaria and replaced with healthy ones. The fish were acclimatized for at least 20 days before the beginning of the experiment. Also the aquaria were supplied with a good aeration throughout the experimental period. Water temperature was thermostatically adjusted at 27 ± 2°C as an optimum temperature for *O. niloticus* and hydrogen ion concentration (pH) was monitored using pH meter with a pH range of 7-8. Fish from the same parental stock were randomly distributed (6 fish /aquarium).

Measurement of Growth Performance

Live body weights of each group were recorded pre and post treatments. Body weight gain, average daily gain and specific growth rate were estimated by the following equations:

$$\text{Body weight gain (g fish}^{-1}\text{)} = \text{final body weight (g)} - \text{initial body weight (g)}.$$

$$\text{The average daily gain (ADG) (g day}^{-1}\text{)} = \frac{\text{Body weight gain (g)}}{\text{Treatment Period (days)}}$$

$$\text{Specific growth rate (SGR)}(\%) = \frac{\text{Ln final body weight} - \text{Ln initial body weight}}{\text{Treatment period (days)}} \times 100$$

Table 1. Experimental outline of fish feeding and blood sampling

Group	Treatment	Duration (days)	Blood sampling interval (days)
I- Control	6 fish /aquarium, protein level was 30%, without ammonium chloride.(6 aquaria)	30	0, 7, 14, 21and30
II- Ammonia	6 fish/aquarium, diet-protein level was 30%+3mg ammonium chloride/liter water. (8 aquaria)	4	0 and 4

Blood Sampling

Fish were bled from the caudal vessels. Two sets of blood samples were collected one with anti-coagulant (heparin) and the other without coagulant. The whole blood samples were used for the measurements of hematological parameters. On the other hand, the non-coagulated blood samples were centrifuged (3000 rpm for 20 minutes) and sera were harvested and used for the measurements of cortisol and glucose.

Hematological and Cortisol Analyses

Red and white cells counts were made using Natt and Herrick solution as the diluent and stain (Natt and Herrick, 1952). The red and white blood cells counts were expressed in millions and thousand per mm³ blood, respectively. Hematocrit value (PCV) was determined using hematocrit capillary tubes after centrifugation at 3000 rpm for 20 minutes in PCV centrifuge.

Hemoglobin (Hb) concentration was measured by colorimetric kits (Diamond, Egypt). The principle of the procedure based on that hemoglobin is first oxidized by potassium ferricyanide into methemoglobin which is converted into cyanomethemoglobin and the color was measured at a wavelength of 540 nm. Cortisol concentration in blood serum was determined by a commercial ELISA (Dima, Germany) kit using the method of Foster and Dunn (1974). Intra-assay CV was 4.3%.

Statistical Analysis

Data for growth, blood attributes, cortisol and glucose were analyzed by the least square analysis of variance (SAS, 2000). Comparisons between treatment means were achieved by the least significant differences (LSD) (Steel and Torrie, 1984). Significant levels were considered at P<0.05.

RESULTS AND DISCUSSION

Growth Performance

Initial and final body weights are presented in Table 2. The fish chosen for this study was, to a great extent, similar in size and weight (Figure 1). Final body weight was taken differently among treatments, since duration of the treatment varied according to the experimental outline. Weight gain, average daily gain (ADG, g/fish/day) and specific growth rate (SGR) as estimates of daily growth were reduced (P<0.05) in the presence of ammonia. In control media male fish exhibited higher (P<0.05) average daily gain and SGR (%) than females. Likewise, in the ammoniated aquaria the negative growth was less in males (-1.88 g/fish/day) than in females (-1.95 g/fish/day). Also, specific growth rate (%) was positive in control and negative in ammonia-exposed fish.

The Female's growth was most likely affected by ammonia (Table 2). Evidently, several investigators reported similar results. Frances *et al.* (2000) reported a decrease in body weight of silver perch as a consequence to elevated ammonia in water. Also, Foss *et al.* (2003) obtained similar trend in juvenile spotted wolfish. Moreover, Dosdat *et al.* (2003) and Lemarie *et al.* (2004) reported such phenomena in European sea bass. Recently, Sakala and Musuka (2014) reported a toxic effect of increased ammonia on tilapia growth rate. The loss of weight in ammonia treatment is more likely due to the inhibition of the fish appetite leading to significant reduction of feed intake and disturbance in metabolism. As shown in Figure 2, there found necrosis and lesions in the body and necrosis and splitting in fins. Ammonia and urea were found to be the

two main nitrogenous products excreted by teleosts, with ammonia usually representing 75-90% of the nitrogenous excretion (Handy and Poxton, 1993).

Ammonia toxicity depends on the concentration of the unionized ammonia (NH₃). Fish branchial membranes are relatively permeable to NH₃, but not to NH₄⁺, due to its molecular size. When dissolved in water, ionized and unionized forms of ammonia are in equilibrium, which is affected by water pH, temperature and salinity. High levels of ammonia cause stress and produce harmful physiological response such as osmoregulatory disturbances, kidneys and branchial epithelium damages and retarded growth (Meade, 1989; Soderberg, 1994), inefficient immune response (Cheng *et al.*, 2004; Pinto *et al.*, 2007) and reduced survival (Jobling, 1994).

Table 2. Effect of high level of ammonia on growth of tilapia fish (Mean±SEM)

Parameters	Control		Ammonia	
	Male	Female	Male	Female
Initial Weight (g)	52.07±0.78	47.57±0.67	51.81±0.54	48.8±0.55
Final Weight(g)	68.46±0.50 ^a	61.0±0.93 ^b	44.26±1.63 ^c	40.96±1.23 ^c
Growth (g)	16.40±0.35 ^a	13.43±0.35 ^b	-7.54±0.35 ^c	-7.83±0.35 ^c
ADG (g/fish/day)	0.54±0.01 ^a	0.44±0.01 ^b	-1.88±0.01 ^c	-1.95±0.01 ^d
SGR (%)	0.91±0.02 ^a	0.82±0.02 ^b	-5.46±0.03 ^c	-4.30±0.02 ^d

^{a,b} Means in the same row with different superscripts differ significantly (P< 0.05).

Table 3. Effect of high level of ammonia on the hematological parameters of tilapia fish (Mean±SEM)

Parameters	Control		Ammonia	
	Male	Female	Male	Female
WBCs(×10 ³ /mm ³)	24.07±0.13 ^a	23.09±0.13 ^a	26.17±0.12 ^b	25.55±0.13 ^c
RBCs (×10 ⁶ /mm ³)	2.24±0.02 ^a	2.11±0.03 ^a	1.17±0.02 ^b	1.76±0.02 ^c
PCV (%)	25.09±0.14 ^a	25.12±0.13 ^a	21.92±0.12 ^b	21.91±0.14 ^b
Hb (g/dl)	7.80±0.06 ^a	7.78±0.05 ^a	6.41±0.06 ^b	6.41±0.05 ^b
MCV (µm ³)	112.93±0.81 ^a	119.39±0.79 ^b	131.44±0.78 ^c	127.81±0.81 ^d
MCH (pg)	35.15±0.24 ^a	37.00±0.25 ^a	37.46±0.24 ^a	36.66±0.26 ^a
MCHC (%)	31.11±0.16 ^a	30.99±0.17 ^a	28.93±0.16 ^b	28.96±0.17 ^b

^{a,b} Means in the same row with different superscripts differ significantly (P< 0.05).

Table 4. Differences of leukocytes differential count (%) between males and females of tilapia fish

Sex	Neutrophil	Eosinophil	Basophil	Monocyte	Lymphocyte
Male	27.76±0.23 ^b	8.78±0.06 ^a	8.64±0.06 ^a	1.94±0.05 ^b	52.87±0.2 ^a
Female	30.63±0.23 ^a	8.62±0.06 ^a	8.17±0.06 ^a	2.20±0.05 ^a	50.38±0.2 ^b

^{a,b} Means in the same column with different superscripts differ significantly (P< 0.05).

Table 5. Effect of high level of ammonia on blood cortisol of tilapia fish (Mean±SEM)

Metabolite	Control		Ammonia	
	Male	Female	Male	Female
Cortisol (ng/ml)	2.95±0.24 ^a	2.72±0.3 ^a	6.40±0.65 ^b	6.48±0.70 ^b
Glucose (mg/dl)	52.58±1.45 ^a	54.80±1.45 ^a	83.72±1.45 ^b	85.26±1.45 ^b

^{a,b} Means in the same row with different superscripts differ significantly (p< 0.05).

Changes in the Hematological Parameters

WBCs

Data of the effect of ammonia on WBCs, RBCs, PCV and Hb are presented in Table 3. Results show that there were significant increases ($P < 0.05$) of leukocyte counts (WBCs) in tilapia exposed to ammonia. This finding agrees with others who recorded an increase of WBCs in red tilapia after exposure to 3 mg NH_4Cl /l for 3 days (Bonnie and Liu, 2004). Moreover, Das *et al.* (2004) obtained similar trend concluding that the increase in WBCs as a result of exposure to stresses is involved in the regulation of immunological function of fish. Such an increase in total leukocyte occurs by the increase in lymphopoiesis and/or enhanced release of lymphocytes from lymphoid tissues. The increase in WBCs in males was evidently higher than females supporting the idea of more adaptation of males than females to the surrounding media.

RBCs and PCV

Relative to erythrocyte counts the results show significant ($p < 0.05$) decrease in RBCs in ammonia-exposed fish. The decrease of RBCs in ammonia condition was higher in males than in females. Overall, the decrease of RBCs approached 33% of the control value. Since, red blood cells of teleost produced from hematopoietic tissue of the kidney, spleen and liver the stress impact of ammonia might damage such organs to the degree that they caused reduction of erythrocytes (Das *et al.*, 2004). El-Sherif and El-Feky (2008) demonstrated histopathological damage to the kidneys of tilapia fish exposed to ammonia. Kidney damages were marked hyaline droplet degeneration and swelling of renal tubules, majority of renal tubules showed vacuolations, necrotic epithelia, necrosis in melanomacrophages center and increased thrombus formation and infiltration of melanomacrophage cells between the renal tubules. These tissue damages might contribute to the decreased ability of renal hematopoietic function.

Data of hematocrit value (PCV) are shown in Table 3. There exist a significant ($p < 0.05$) decrease in PCV in ammonia-exposed fish. The decrease of PCV in ammonia-exposed fish approached 13 % of the control. There were no statistical differences due to gender in this parameter. Similar finding was attained by El-Sherif and El-Feky (2008) even though they tested lower levels of ammonia.

Hb Concentration

Similar trend to what was found with PCV, hemoglobin concentration was lower ($P < 0.05$) in ammonia-exposed fish than control by about 18%. There were no obvious differences due to gender of fish. The decreases in RBCs, PCV and Hb concentration obtained in the present study might be attributed to the ammonia toxicity in the media which might have caused damages to the vital organs (i.e. gills, liver, spleen, kidneys). As it has been well established that liver and kidneys are the sites of erythrocyte production, the damage caused by ammonia might suppress this process. Additionally, the increase of NH_3 in the blood circulation might rupture high percent of RBCs and/or caused hemodilution resulting in a disturbance of osmoregulation across gill epithelium (Vosyliene *et al.*, 2003). Similar results were recorded in red tilapia (Bonnie and Liu, 2004) and in mrigal fish (Das *et al.*, 2004). Surprisingly, there found a species differences on the tolerance of different fish to ammonia level. This has been shown by Dosdat *et al.* (2003) who reported no changes in hematocrit value in European sea bass exposed to 0.014- 0.493 mg $\text{NH}_3\text{-N}$ /l for 61 days. Greater reduction ($\approx 45\%$) in Hb was recorded in tilapia fish exposed to 0.15 mg NH_3 /l for 60 days (El-Sherif and El-Feky 2008). Differential leukocytes count revealed increases of neutrophils and monocytes in females, while in males the increase was found in lymphocytes only (Table 4).

Changes in the Erythrocyte Indices (MCV, MCH and MCHC)

There exists a significant increase ($p < 0.05$) in MCV values (Table 3) in fishes (males & females) exposed to ammonia compared with control. The increase in the mean corpuscular volume relative to the control attained 12 % higher than control. There were no changes ($P > 0.10$) in MCH values due to treatment. Gender didn't express changes in MCH. Contrariwise, percentage of MCHC exhibited significant decreases ($p < 0.05$) in ammonia-exposed compared with control fish. No differences were found in MCHC between males and females. The increase in corpuscular volume (MCV) as a consequence to ammonia exposure might be ascribed to the increased water content in red blood cells resulting of chloride shift and the decreased of plasma chloride at the same state of high ammonia in water. Moreover, the decrease of MCHC might be attributed to the hemodilution and/or the lack of production of hemoglobin in circulation. Toxicity of ammonia, nitrate and nitrite was found to impair the oxygen uptake by carp fish resulting in hazardous consequences on red blood cells production and their components (Tilak *et al.*, 2007). More recently, Shokr (2015) obtained similar results when he exposed Nile tilapia to ascending levels of ammonium nitrates.



Figure 1. Healthy control tilapia fish (*Oreochromis niloticus*)

Changes in Serum Cortisol and Glucose

As shown in Table 5, there found a massive increase in serum cortisol in the ammonia-exposed fish. The increase represents 127% more than control values. Likewise, glucose levels increased ($P < 0.05$) by about 57%. Recently, Metwally and Wafeek (2014) reported vast increases of cortisol and glucose in fish exposed to ammonia. Evidently, hypothalamo-pituitary interrenal axis, stimulated by ammonia as a stressor elevated blood levels of cortisol which in turn leads to lipolysis, glycogenolysis and gluconeogenesis to provide energy under stress conditions (Hontela *et al.*, 1992). The hyperglycemic condition observed in many teleost release condition is mainly mediated by effect of catecholamine on glucose release from liver which is considered the main carbohydrate store in fish (Van den Thillart and Van Raaji, 1995).



Figure 2. Tilapia exposed to ammonia showing body lesions and necrosis, split and lesioned fins

CONCLUSIONS

One of the most risky stressors to fresh water fish is the elevation of the ammonia and its derivatives in the aquaculture environment. The main negative consequences of the elevated ammonia in Tilapia culture are the sharp decrease in body growth rate, change in hematological traits, increased cortisol and glucose in the blood to cope with ammonia toxic effects.

REFERENCES

- Barbieri, E., A.C.V. Bondioli. 2015. Acute toxicity of ammonia in Pacu fish (*Piaractus mesopotamicus* Holmberg, 1887) at different temperatures levels. *Aquaculture Research*, 46: 565-571.
- Barton, A.B. 2002. Stress in fish: a diversity of response with particular reference to changes in circulating corticosteroids. *Integrated and Comparative Biology*, 42: 517-525.
- Bonnie, S.P., D.I. Liu. 2004. Effect of ammonium on blood characteristics and lipoxygenase activities in cultured tilapia. The hotel tropical conference center. Manaus, Amazonas, Brazil, 149-161.
- Cheng, W., I.S. Hsiao, J.C. Chen. 2004. Effect of ammonia on the immune response of Taiwan abalone *Haliotis diversicolor* and its susceptibility to *Vibrio parahaemolyticus*. *Fish Shellfish Immunology*, 17: 193-202.
- Das, P.C., S. Ayyappan, J.K. Jena, B.K. Das. 2004. Acute toxicity of ammonia and its sub-lethal effects on selected haematological and enzymatic parameters of mrigal, *Cirrhinus mrigala* (Hamilton). *Aquaculture Research*, 35: 134-143.
- Dosdat, A., J.P. Ruyet, D. Coves, G. Dutto, E. Gasset, A. Le Roux, L. Gilles. 2003. Effect of chronic exposure to ammonia on growth, food utilization and metabolism of the European sea bass (*Dicentrarchus labrax*). *Aquatic Living Resources*, 16: 509-520.
- El-Sayed, A.M.S. 2015. Effect of ammonia stress on blood constituents in Nile tilapia. *Egyptian Academy Journal of Biological Sciences*, 7(1): 37-44.
- El-Sherif, M.S., Amal M. El-Feky. 2008. Effect of ammonia on the Nile Tilapia (*O. niloticus*) performance and some hematological and histological measures. Eighth International Symposium on Tilapia in Aquaculture, 513-530.
- Erol, C.I., K. Sevki, B. Halis, A. Ilhan. 2010. Acute toxicity of some agriculture fertilizers to rainbow trout. *Turkish Journal of Fisheries and Aquatic Sciences*, 10: 19-25.
- Fernandes, M.N., A.F. Mazon. 2003. Environmental pollution and gill morphology. In: Val, A.L., B.G. Kapoor (Eds.). *Fish adaptations*. Enfield, Science publishers, 203-231.
- Food and Agriculture Organization of the United Nation (FAO). 2006. Inland water resources and aquaculture service, Fishery Resources Division, Fisheries Department.
- Foss, A., T.H. Evensen, T. Vollen, Q. Victor. 2003. Effect of chronic ammonia exposure on growth and food conservation efficiency in juvenile spotted wolffish. *Aquaculture*, 238: 215-224.
- Foster, L.B., R.T. Dunn 1974. Single-antibody technique for radioimmunoassay of cortisol in un-extracted serum or plasma. *Chemistry*, 20: 365-368.
- Frances, J., B.F. Nowak, L.A. Geoff. 2000. Effects of ammonia on juvenile silver perch (*Bidyanus bidyanus*). *Aquaculture*, 183: 95-103.
- Handy, R.D., M.G. Poxton. 1993. Nitrogen pollution in mariculture: toxicity and excretion of nitrogenous compounds by marine fish. *Reviews in Fish Biology and Fisheries*, 3: 205-241.
- Hillart, G.V., M. V. Raaji. 1995. Endogenous fuels: noninvasive versus invasive, in *Biochemistry and Molecular Biology of Fishes*, Vol. 4, *Metabolic Biochemistry*, Eds. P. W. Hochachka and T. P. Mommsen (Amsterdam: Elsevier), 33-63.
- Iwama, G.K., L.O.B. Afonosoi, A. Tongham, P. Ackerman, N. Kazumi. 2004. Commentary: Are HSPs suitable for indicating stressed states in fish?. *The Journal of Experimental Biology*, 207: 15-19.
- Jobling, M. 1994. *Fish bioenergetics*. Chapman and Hall, London.
- Kuttchantran, M. 2013. Managing ammonia in fish ponds. Aquatic animal health unit, Universiti Putra Malaysia, Malaysia.
- Lemarie, G., A. Dostat, D. Coves, G. Dutto, E. Gasset, P.R. Jeanine. 2004. Effect of chronic ammonia exposure on growth of European sea bass (*Dicentrarchus labrax*) juveniles. *Aquaculture*, 229: 479-491.
- Lin, C.Y., J.C. Chen. 2003. Acute toxicity of nitrite on *Litopenaeus vannamei* (Boone) juveniles at different salinity levels. *Aquaculture*, 224: 193-201.
- Masautso, E., C. Sakala, G. Muska. 2014. The effect of ammonia on growth and survival rate of *Tilapia rendalli* in quail manured tanks. *International Journal Aquaculture*, 4(22): 1-6.
- Meade, J.W. 1989. Allowable ammonia in fish culture. *Progress Fish Culture*, 47: 135-145.
- Metwally, M.A.A., M. Wafeek 2014. Effect of Ammonia Toxicity on Carbohydrate Metabolism In Nile Tilapia (*Oreochromis niloticus*). *World Journal of Fish and Marine Sciences*, 6 (3): 252-261.
- Montela, A., J.B. Rasmussen, C. Audet, G. Chevalier. 1992. Impaired cortisol stress response fish from environments polluted by PAHs, PCBs, and mercury. *Archives of Environmental Contamination and Toxicology*, 22: 278-283.
- Natt, M.P., C.A. Herrick. 1952. A new blood diluent for counting the red and white blood cells of chickens. *Poultry Science*, 31: 335.
- Pinto, C., C. Aragão, F. Soares, M.T. Dinis, L.E.C. Conceição. 2007. Growth, stress response and free amino acid levels in Senegalese sole (*Solea senegalensis* Kaup 1858) chronically exposed to exogenous ammonia. *Aquaculture Research*, 38: 1198-1204.

- Popma, T., M. Michael. 1999. Tilapia life history and biology. SRAC Publication; No. 283.
- Ruane, N.M., E.C. Carballo, J. Komen. 2002. Increased stocking density influences the acute physiological stress response of common carp *Cyprinus carpio* (L.). *Aquaculture Research*, 33: 777-784.
- Sakala, M.E., CG. Musuka. 2014. The effect of ammonia on growth and survival rate of *Tilapia rendalli* in quail manured tanks. *International Journal of Aquaculture*, 4(22): 1-6.
- SAS. 2000. Statistical analysis system user's guide. Eighth Edition, SAS Institute, Cary, NC, USA.
- Shokr, E.A.M. 2015. Effects of ammonium on blood contents of *Oreochromus niloticus*. *Journal of Chemical and Pharmaceutical Research*, 7(3): 1963-1968.
- Soderberg, R.W. 1994. Flowing water fish culture. CRC Press, Boca Raton, 147.
- Steel, R.G.D., J.H. Torrie. 1984. Principles and Procedures of Statistics: A Biometrical Approach. 4th Edition, McGraw-Hill, Inc., New York.
- Tilak, K.S., K. Veeraiah, J.M.P. Raju. 2007. Effects of ammonia, nitrite and nitrate on Hemoglobin content and oxygen consumption of freshwater fish, *Cyprinus carpio* (Linnaeus). *Journal of Environmental Biology*, 28 (1): 45-47.
- Vosyliene, M.Z., G. Svecevicius, N. Kazlauskiene. 2003. Toxic effects of ammonia on rainbow trout (*Oncorhynchus mykiss*) in all stages of development. *Proceedings of the Seventh International Symposium*, Tallinn, Estonia May 12-15.

Received: 27 April 2016 Accepted: 3 June 2016